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(A) 3360K Bytes (B) 56K Bytes (C) 56K bits (D) 420K Bytes

- % = ~ e B i 8% (Preorder Traversal) 2 ICBADFEGH ® # ¢ & i g7 (Inorder Traversal)
% ABCDIEGFH » B2 t¢ B i Br (Postorder Traversal) 5
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FF 7 “A7 a1 ASCIT %#% 5 (65)+ i i » 3R “ZERO” ¢ ASCII %fg it = ik A 4 1 ih
gRaTARE 2 (90) (69) (82) (79) (B) (5B) (45) (52) (4F)
(C) (5A) (45) (52) (4F) (D) (5A) (45) (53) (4E)

BArant B i o 2Bt B S B o 8k (010110100 - (11011100) =
--%% =P ?2) (66)+= & (B) (82)+ =& (C) (TE)+ =iz (D) (Th)+» i
FCPU e & 5 AMIPS » RIS 7 - Bdp £ chT3om@ R 5 1 (A) 0.25 ns (B) 250 ns (C) 4 ns (D)
400 ns
TAT YR 0 P BRI 2 (165.2) ¢
() (341.12) (B) (341.13) (C) (340.14) (D) (341.14)
% CPU 27 24 iri=n s (Address Lines) » v ¥ 1M E & T h 3| § + el iy ¢
(A) 16M (B) 12M (C) 8M (D) 4M
2 BCD(Binary Coded Decimal )& # -7 - i = # 3697 2 %% % : (A) 0011 0110 1001 1101 (B)
0011 0110 1010 0111 (C) 0011 0011 1001 0111 (D) 0011 0110 1001 0111
Cir- ¢ 73 BEEB AR BB ME 2 R 7206 BERS AL BB R ?
(A 7 @B 89 D 10
THRRAERFEE  ARAKRTRAN LT HEFEeR 5 0(NlogN) ?
(A) B 5= (Quick Sort) (B) & & # 5= (Merge Sort)
(C) i#&# R 2 (Bubble Sort) (D) E## A2 (Selection Sort)
7 7 s#c(Fibonacci Number)® * T 7[R % & 7
FC0) =0
F(1) =
F(i) = FGi-D+F(i-2) for i > 2
RIF(14)e0E 5 -
(A)233 (B) 377 (C) 610 (D) 987
TR G - AR PR
1 =0;
while 1 <= 100 do
i=1+3;
HEFIERNPRS ] hEiR?
(A) 100 (B) 300 (C) 99 (D) 102
TArR- ABIER 5 * fF (Universal Gates) » ¥ F Al #7r5 en® $RiF § 54 7
(A) XOR (B) OR (C) NAND (D) AND
Alm][n] % = s> B3k A L5235 5 2 (Row Major)#5] » # B~ % (k% — Bislatldiy >
A[3][3] tezelaty ™ eni=nt 5 121 > A[6][4] Azefatl® arizat 5 161 > BIA[1][1] i latg P =
maks @ ?2(A) 93 (B) 95 (C) 97 (D) 103
# 7 7 7] Visual Basic #&;" * ffs > ¥#Sum &5 = ?
Dim I, S, Sum As Integer
Sum = 0: T =10
Do
I =1+10
S=1"2%2
Sum = 3 * Sum + S
Loop While I < 30
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(A) 2800 (B) 6000 (C) 4200 (D) 8200
# 77 7] Visual Basic #2;% # &6 > ¥ # Count & 5 @ ?

Dim Sum, Count, A As Integer

Sum = 1
Count = 0
A=1
Do
Do
A=A+ Sum

Count = Count + 2
Loop While A <= 6

Sum = Sum + A
Count = Count + 2
A=1

Loop Until Sum >= 15
(A) 15 (B) 16 (C) 17 (D) 18
# 77 7] Visual Basic ##;% # &6 > ¥ # Count & 5 @ ?
Dim Sum, Count ,A As Integer
Sum = 1
Count = 0
A=1
Do
Do
A=A+ Sum
Count = Count + 2
Loop While A <= 6

Sum = Sum + A
Count = Count + 1
A=1

Loop Until Sum >= 15

(A) 14 (B) 15 (C) 16 (D) 17

# Visual Basic % #N=10- T 7| ¥ iF 8 %% 5 False ?
(A) (N >=10 )XOR(N <>15 ) (B) (N >=10 )AND(N<>15 )

(C) (N >10 )OR(N <15) (D) NOT(N >10 )

N=?

Dim N As Integer = 30

[f N < 30 Then

N=N\5
Else

N =N Mod 5
End If

(A 0(B) 1(C) 6(D) 7
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#7777 Visual Basic #23% # Ffé > ¥ 8 Sum e 5 @ ?
Dim Sum As Integer = 0
Dim I As Integer =1
Dim J As Integer =1
For I = 0 To 5

For ] =1 To 5

Sum = Sum + 1

Next
Next
(A) 5 (B) 25 (C) 30 (D) 36
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